
  

  PŘEVODY JEDNOTEK HMOTNOSTI   (M-06-14) 

Převeďte dané hmotnosti na jednotky uvedené v závorce. 

1) 329 g (kg) = 0,329 kg 

2) 0,8425 kg (g) = 842,5 g 

3) 0,587 g (mg) = 587 mg 

4) 9742 mg (g) = 9,742 g 

5) 87415 g (t) = 0,087415 t 

6) 0,0582 t (g) = 58,2 kg = 58 200 g 

7) 749 kg (q) = 7,49 q 

8) 1,25 q (kg) = 125 kg 

9) 35,69 q (t) = 3,569 t 

10) 2,45 t (q) = 24,5 q 

11) 250 g (dag) = 25 dag 

12) 0,65 kg (dag) = 65 dag 

13) 15 dag (mg) = 150 g = 150000 mg 

14) 85 dag (kg) = 0,85 kg 

15) 3658 dag (t) = 36,58 kg = 0,03658 t 


